
Puzzle #15

NAME:

DATE:

ACROSS DOWN
1. (26 – 17) X 12 = 1. (194 – 63) + 26 =
4. 1 dollar + 4 dimes + 2. 800, 825, ___, 875, 900…
    5 nickels = $ _ . _ _ 3. Ariel had $91,090 in the bank. Paul
6. 16 yards = ___ inches     had $86,450. How much more money
7. 30 days = ___ hours     did Ariel have? (Answer: $ _ , _ _ _ )
8. (29 X 5) – 20 = 4. 11 X 11 =
10. 600 + 0 + 9 = 5. 85 weeks = ___ days
12. Stan bought 12 packages of hot dog 9. 8,000 + ___ + 60 + 1 = 8,261
      buns. Each pack cost $1.29. How 10. 6 dollars + 3 quarters +
      much did he pay in all?        1 dime + 1 penny = $ _ . _ _
      (Answer: $ _ _ . _ _ ) 11. (40 + 7) X 20 =
14. 2 tons = ___ pounds 13. 23 Across – 8 Across =
15. 68 X 10 = 16. $ 52.69 + $ 27.82 = $ _ _ . _ _
17. 76 X 2 = 17. 100 + 70 + 9 =
19. 22 pounds = ___ ounces 18. 7,000 + ___ + 10 + 8 = 7,218
21. 8,000 + ___ + 20 + 2 = 8,522 19. (70 – 19) X 6 =
22. 15 minutes = ___ seconds 20. 10 X 26 =
23. 35 X 18 =

Skills: review puzzles #1-14
© 2005 by Education World®. Education World grants users permission to reproduce this work sheet for educational purposes only.


